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Rk BRI T ERE 3-40-1 1.21 ha
i 1.21 ha
=R 7y 1,590 A
ITHE BEFT e LR e N = 3-40-1 1.21 ha
2,320 A&
BRA TR (B TR 4-43-1 1.78 ha
5,230 A&
/NEEETRT G SR EE 14-17-1 4.02 ha
s+ 4 8,060 A&
R EEKHHBFES X F 15-161-1 6. 18 ha
o+ 4t 6, 280 A
E K FAR A 18-65-1 4.79 ha
& 3,230 A&
) || T KR T R 31-8-1 2.48 ha
26, 700 A
/INEF 20. 46 ha
B Firfk 1.21 ha
IT=& 26, 700 7
szl 20. 46 ha
26, 700 A
i 21.67 ha
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+o0% K O EFEB OEX OEH OB L F OB OB M F
- NO.
wpm| ¥ % @& & o | || BRE | EBLER R MAGSHEL W S
BRik |k = METF e 3- 40~ AX 315;) 0.51 B 50/ 40[ 290 Ak
B =T RS 3-_40- b/% 215:; 0.11 2] 30| 10 90 5| &F
BT =T R s 3- 40~ b/% 2{115,5; 0.03 i) 100 5 40 5|5
A ¢ e - i = 3- 40— b/)% l({115§ 0.56 i 20] 20[ 140 ik

a

1.21
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NO.

o R R I 7 e s - i e s A P

BT B S oRE 3- 40- 1 |RA ¥ l({1153) 0.51 670 - 50{ 40|  290| 1,3004%/ha |{0.3 | 1.8
o T e o =1 3- 40- 2 |BJ% 13115?3 0.11] 150 - 30| 10 90| 1,3004/ha | 0.3 | 1.8
B =g oRs 3- 40- 3 [B/)* 1(11}53; 0.03 40| - 10 5 40| 1,3004</ha |0.3 | 1.8
BT S F R RE 3- 40- 4 |bB/F 1(11%9; 0.56| 730 - 20| 20| 140 1,3004/ha |0.3 [1.8

F 1.21] 1,590 0.00
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NO.

= FEFRFBE HEER A O |EETEE| M+6 X H=L W = &

R HRET AR/ B B | 7 k) ha x| FLE [ M H] L FR HT | A2
H7

BT (R 8 TR 4- 43- 1 | e)% (21) 1.78] 2,320 - 120| 50 420| 1,3004</ha [ 1.8 [6.0

= 1.78] 2,320 0.00




FSYA > 4
3 B B X BH ¥ I = # B W &E
E i

s TR EES PUNE ) [=RE3 M+6 X H=L {5 R

FHRE FIRET A B |~ Gria) ha | ExE M H] L it s BAEA
H9
B /BT TR R 14- 17- 1 |wox| (19 4.02| 5230 - 100| 60|  460| 1,3004/ha | 1.8 | 4.5
2 4.02| 5230  0.00
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NO.

B BRI E R KBTI T 15- 161- 1 | X ¥ (Pﬁz(; 0.88] 1,150f - 150/ 50|  450| 1,3004</ha [1.8 |4.5
Bea i oK e I 15- 162- 1 | A ¥ 8%3(; 0'191(])?.182; 110 - 20| 10 80| 1,3004</ha | 0.0 [4.5
Beadifi & oA M I 15- 162- 2 | A ¥ (r%(; 0.36 470 - 30 20 150| 1,3004/ha | 1.8 [4.5
et A R AR 15— 163- 1 | /% (Pil?l) 4.86] 6,320] - 350| 170 1,370| 1,3004</ha | 1.8 | 4.5

: 6.18] 8.050 0.00




NO.

R Rl I il s s 2 A v s e B o

B | BT KRR B R 18- 65— 1 | BJ% (P2{17) 1.10] 1,430 - 250] 60[  610] 1,3004/ha | 1.8 | 6.0
BT R FAE FF =t 18- 77- 2 |B/* (;Ig) 0.11 150] - 200| 50|  500| 1,3004/ha | 1.8 [6.0
Rl KFAR bR 18- 77- 3 |v/* (Elg) 0.37 490 - 150 60|  510| 1,3004</ha [1.8 | 5.0
R RFAE ErEs 18- 99- 2 |e/% (Pig; 0.18 240 - 200/ 70|  620] 1,3004</ha | 1.8 |5.0
RIGH] KFAE L7 — 18- 100- 1 | kB/J¥ (Pllg) 0.61 800 - 300/ 40|  540| 1,3004/ha | 1.8 [6.0
Rl K FAR LR H 18- 100- 5 | b/% 1(4118(; 0.21 280 - 400| 70|  820| 1,3004/ha | 1.8 | 6.0
R K AR FR{CH 18- 101- 1 |B/% 1(%(; 0.41 540| - 400| 60| 760 1,3004</ha | 1.8 [5.0
R K FAEF B R H 18- 101- 3 | E/¥F (Tg) 0.63 820 - 300] 40|  540| 1,3004/ha | 1.8 |5.0
R KA Eoras 18- 102- 1 | b/% I({1%3 0.48 630 - 250] 60|  610] 1,3004/ha | 1.8 | 6.0
FimiT RFAE BoE/ VA 18- 108- 1 |k/% (Ifg) 0.69 900| - 220] 40|  460| 1,3004</ha | 1.8 [6.0

& 4.79| 6,280|  0.00
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BT 3 BT R R AN T BB 31- 8- Vs 1(1118(; 1.85] 2410 - 150 60| 510| 1.3004/ha | 1.8 [ 4.0
i) [T R R o L B 31-  9- B/ % l({1171) 0.63 820| - 50| 30| 230] 1.3004</ha |1.8 |4.5
& 2.48| 3.230]  0.00




